Non-AP Calculus 2.1 Definition of Derivative Practice Worksheet

1) Use the Limit Definition of a derivative to find £(x) if f(x) = 2x% —3x + 1
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2) Use the Alternative definition of the derivative to find /'(2) if f(x) = V2 —x
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3) Use the Limit Definition of a Derivative to find £'(x) if f(x) = Vv2x —1




oon o e+ h) = f(x)
f'Ge) = Jim h

2
4) Use the Limit Definition of a derivative to find £’(3) if f(x)= —

5) Use either general or alternative method above to find the equation of the
tangent line to f(x) = 2x — 3x* atx =—1. y—vy; =m(x —x;)
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3) Use the Limit Definition of a Derivative to find ":’F’(x) if "F»(x)» = V2x—1
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4) Use the L1m1t Definition of a derivative to find £>(3) if f(x)= zx £(x #y = =—

£0)-= £ =

S- >
5—[x+t‘§ s-x jm }’O//{/"étz/’hai\ ( ‘fD
~ | AV /\(5~x)(5‘»x~/\)

Zm U
- Adu m )

/(”" ...-———-—"" 2
| F&)= 420 5 x)(g«—A) 3G =

/\-=)o

Ui A5y - alsn i)
:(-"'/D "
Als\'X)(g_x__A)

5) Use either general or alternative method above to find the equation of the
tangent line to f(x) =2x —3x? atx =-1. Y= = m(x — xq)
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